Your convention card with Georgefl

Negative->4H. Support
doubles and redoubles

1NT=15-17 (system on)
2NT=unusual (2 lowest
Junbid). 1NT balance = 10-14

Transfer responses to 1C. 2/1 GF unless responder rebids
suit. Minimulti 2D opening 2-7 points one long major (can be
5 cards not vul). Open 1C not 1D with almost all balanced
hands. Minisplinters.

7-17+ HCP; new suit=non-
forcing; jump raise=weak;
cuebid=limit raise+.

2% majors. 2¢ one major.
2H/2S 5M, 4+m; DBL =penalty
Ithen 2nd dbil t/o.

1NT=15-17: Stayman, Jacoby, 2S=range probe or 3C,
2NT>3D, 3C Puppet, 3D minors GF, 3M short with 3oM.
Rubensohl. South African Texas. Smolen. 2NT=20-22: 3&
Puppet, transfers, 3S minors; two under slam try at 4 level.
3BNT=Specific ace ask.

\Weak. Leaping Michaels. Transfers if we open 1C. New
Isuit forcing at 1-level;

RDBL=10+ HCP; system on

1H/1S=5+; Jacoby 2NT, 1C 2+; 1D=4+ unbal. Transfer
splinters; Bergen; 1NT NF 5- Jresps to 1C; 1C- 2NT GF,
11(12) Drury 3rd. Gazzilli 1M eak jump shifts to 2M;

INT 2C and 1H 1S 2C. 1H-2S jinverted m, transfers after 1x
or 1S-3H = 3 card limit raise. 1y 2NT. 1C P INT P 2D

Stayman

1430; DOPI; cue 1/2;
JExclusion 0, 1, 1Q, 2 etc.

2C=strong: 2D=waiting. 2D minimulti 2-7 HCP with long major
(5 OK nonvul). 2H/2S=8-10(11) 6M; 2NT=forcing; new suits
forcing. 3M 4C slam try.

UDCA; 4th best leads; MUD; K for count at 5+ level

4th suit game forcing; Two way checkback. 1M (overcall) 2NT
four card raise. Support doubles & redoubles. XYZ after 1x 1y
1y+1. Blackout. (1x) X (1y) X takeout. Cue raises. 1C (1D or
1H) transfers at one level.




